combine-ecl-trans-state2!1:4°

Vds:fpf(Id; x. Type), da:fpf(Knd; k.Type), A,B:ecl-trans-tuple{i:1}
(ds; da).
ecl-trans-normal(A)
= ecl-trans-normal(B)
= (Vn:N, L':(event-info(ds;da) List).
(ecl-trans-halt2(ds; da; A)(n,L'))
= (VL:(event-info(ds;da) List).
iseg(event-info(ds;da); L'; L) = (ecl-trans-halt2(ds; da; A)(n,L))))
= (Vn:N, L':(event-info(ds;da) List).
(ecl-trans-halt2(ds; da; B)(n,L'))
= (VL:(event-info(ds;da) List).
iseg(event-info(ds;da); L'; L) = (ecl-trans-halt2(ds; da; B)(n,L))))
= (Vn:NT, L:(event-info(ds; da) List).
(ecl-trans-halt2(ds; da; A)(n,L)) = (n € ecl-trans-es(A)))
= (Vn:N*, L:(event- mfo(ds da) List).
(ecl trans-halt2(ds; da; B)(n,L)) = (n € ecl-trans-es(B)))
= (Vf
Jz:7B
((ecl-trans-state(combine-ecl-tuples2(A; B; f; g); L)

<ecl-trans-state(A; L), ecl-trans-state(B; L), >
€ ecl-trans-type(combine-ecl-tuples2(A; B; f; g)))
A ((z = (inl tt))
<= (3L:event-info(ds;da) List
Fm:N
(iseg(event-info(ds;da); L'; L)
A (ecl-trans-halt2(ds; da; A)(m,L'))
A (Yn:N, L":(event-info(ds;da) List).
iseg(event-info(ds;da); L'; L)
= (ecl-trans-halt2(ds; da; B)(n,L"))
= (L// — L/))
A (Yn:int_seg(0; m). —(ecl-trans-halt2(ds; da; B)(n,L'))))))
A ((z = (inl fI'))
<= (3L:event-info(ds;da) List
Im:N
(iseg(event-info(ds;da); L'; L)
A (ecl-trans-halt2(ds; da; B)(m,L'))
A (Vn:N, L":(event-info(ds;da) List).
iseg(event-info(ds;da); L"; L)
= (ecl-trans-halt2(ds; da; A)(n,L"))
= (L// — L/))
A (Vn:int_seg(0; (m + 1)). —(ecl-trans-halt2(ds; da; A)(n,L'))))))

((B)»(N—-B)-»(N—-B)—-N—-B),¢:B—-B—-B—-B—B—B—B),

L:(event-info(ds;da) List).



A ((=(Tisl(x)))
<~ (Vm:N.
(—(ecl-trans-halt2(ds; da; A)(m,L))) A (—(ecl-trans-halt2(ds; da; B)(m,L)))))))
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